Amphenol

© 2016 AFC

FCi

™

PART NUMBER

HOOD ST/E

8600BMETTATOKLE

KT 09

4.6

55

2|
29

NOTES: (FOR EVERY SIZES)
|- OPERATING TEMPERATURE:
2- INDIVIDUAL KITS SEALED

[N UNASSEMBLED FORM.
BOM AS SHOWN N TABLE

-40°C TO +120°C
IN PLASTIC COVER

RoHS [NFORMATION:
- THE LF PRODUCT MEETS EUROPEAN UNTON
DIRECTIVES AND OTHER COUNTRY REGULATIONS
AS DESCRIBED IN GS+22-009
- THE PRODUCT IS NOT INTENTED TO BE EXPOSED
T0 A MANUFACTURING SOLDER PROCESS

spec ref dr | DipuJoseph 2020/03/02 projection size scale
olerance s en Laurent Mulin 2020/08/24 mm A 3 .
ITEM NO. | OTY. PART DESCRIPTION rerenes 1l oy erances untess |2 & — 3:2
‘ 2 COVER S ‘ ZE 09 SO [10] OTHERWISE SPECTRIED appr | CyrilJeune 2020/08/24 product family - |rel level Released
4 o M2 ox 14 COUNTERSUNK SCREW 0. +0.3 v ° rev
] Amphenol |~ DSUB METAL HOOD -
3 2 CLAMP surface M linear OO.XXXXX EOO,O\OOS FCi = g 86SSBMXX |A|OKLF R
4 fe UNC 4-40x55 JACKSCREW SO 1302 |angular 0° +2° cat. no | Product - Customer Drw |Sh66f I of 5
e fa 3 PDS: Rev :A STATUS:Releaded

Printed: Aug 24, 2020




Amphenol
FCi

™

© 2016 AFC

PART NUMBER

HOOD ST/E

86 00BMATIATD

KLF

45

43

!

4.

spec ref dr | DipuJoseph 2020/03/02 projection size scale
olerance s eng | Laurent Mulin 2020108124 mm AR .
ITEM NO. | QTY. PART DESCRIPTION e ST Lo caances piess [tf G- — 3:2
2 COVER S‘ZE SO 110 OTHERWISE SPECTRIED appr | CyrilJeune 2020/08/24 product family - lrel level Released
4 0 M2 . ox 14 COUNTERSUNK SCREW 0.X +0.3 o ° rev
] Amphenol |~ DSUB METAL HOOD -
3 2 CLAMP surface M linear OO.XXXXX EOO,O\OOS FCi = g 86SSBMXX |A|OKLF R
4 2 UNC 4-40x55 JACKSCREW 150 1302 [onguior | @ +2° ot no ] Product - Customer Drw [sheet 2 of 5
R ? 3 PDS: Rev :A STATUS:Releaded Printed: Aug 24, 2020




Amphenol

© 2016 AFC

FCi

™

PART NUMBER

PACK

HOOD ST/E

8600BMBTIATOKLE

KT

)

45

96 .

o)

4.

59

ML

0

47

dr Dipu Joseph

2020/03/02

spec ref projection size scale
olerance s enq | Laurent Mulin 2020/08/24 mm AR .
ITEM NO. | OTY. PART DESCRIPTION rerenes 1l oy erances untess |2 & — 3:2
‘ 2 CO\/ER S‘ZE 25 SO 1101 OTHERWISE SPECTRTED appr | CyrilJeune 2020/08/24 product family - |rel level Released
fe 0 M2 . 5x 14 COUNTERSUNK SCREW 0.X +0.3 v ° rev
] Amphenol |~ DSUB METAL HOOD -
3 D CLAMP surface M linear OO».XXXXX EOO,O\OOS FCi = g 8655BMxx TATOKLF A
4 fe UNC 4-40x55 JACKSCREW SO 1302 |angular 0° +2° cat. no | Product - Customer Drw |Sh66f 3 0f 5
o ? 3 PDS: Rev :A STATUS:Releaded Printed: Aug 24, 2020




FCi

Amphenol

™

© 2016 AFCI

fa 3 4
PART NUMBER PACK HOOD ST/t
8650BMCTITATOKLE 1T 31
1.6
1 I I
@ ® t | 60 |
‘ ©_ O ‘
o o —— O || o
C ) il | | -
e ) - .
_ !
. 4.6
063.9
spec ref dr | DipuJoseph 2020/03/02 projection mm size scale
olerance s enq | Laurent Mulin 202008724 AR .
ITEM NO. | OTY. PART DESCRIPTION e ST Lo caances piess [tf G- — H
‘ 2 COVER S‘ZE 37 SO 110 OTHERWTSE SPECTRIED appr | CyrilJeune 2020/08/24 product family - lrel level Released
2 o M2 ox 14 COUNTERSUNK SCREW 0. +0.3 v ° rev
o Amphenol |- DSUB METAL HOOD =
surface linear 0. XX +0.10 = > 8655BMxx IATOKLF
3 : CLAMP M 0.4Xx |£0.005 FCi|- < A
4 fe UNC 4-40x55> JACKSCREW SO 1302 |angular 0° +2° cat. no | Product - Customer Drw |Sh66f 4 of 5
R ? 3 PDS: Rev :A STATUS:Releaded Printed: Aug 24, 2020




FCi

Amphenol

™

© 2016 AFCI

fa 3 4
PART NUMBER PACK HOOD ST/t
8650BMDT TATOKLFE 1T 50
43
| | I 1
i | 'O \
‘ ©___ O ‘
S S ‘ ‘
< I | ol —
C D - -
- - ! 1
71 | 7.4
spec ref dr | DipuJoseph 2020/03/02 projection mm size scale
olerance s eng | Laurent Mulin 2020/08/24 A3 .
[TEM NO. | OTY, PART DESCRIPTION e ST Lo caances piess [tf G- — H
2 CO\/ER S‘ZE 50 [SO |10} OTHERWISE SPECTRTED appr | Cyril Jeune 2020/08/24 product family -|rel level Released
? o M2 . ox 16 COUNTERSUNK SCREW 0. +0.3 v ° rev
] Amphenol |~ DSUB METAL HOOD -
3 P CLAMP surface M linear OO.XXXXX EOO,O\OOS FCi = g 86SSBMXX|A|OKLF R
4 fe UNC 4-40x55 JACKSCREW 1SO 1302 |angular| O +0° cat. no - | - Customer Drw [ sheet 5 of 5
R ? 3 PDS: Rev :A STATUS:Releaded Printed: Aug 24, 2020




	Sheet 1
	Views
	new_view_1
	right_2
	right_3
	new_view_4
	new_view_5


	Sheet 2
	Views
	new_view_1
	right_2
	right_3
	new_view_4
	new_view_5


	Sheet 3
	Views
	new_view_1
	right_2
	right_3
	new_view_4
	new_view_5


	Sheet 4
	Views
	new_view_1
	right_2
	right_3
	new_view_4
	new_view_5


	Sheet 5
	Views
	new_view_1
	right_2
	right_3
	new_view_4
	new_view_5



